FFF2AEBY II3E RS- B-&EB ¥- K9

FL% - i Yz
RAEFAAST P FHEE T E B AP B L REant B BT e &

E-More FX-127 ~ Fuhbao FX-180 ~ Canon F-502G ~ Casio FX-82Solar(II)

A 114 2 > A28 100 £ 12 100 & 3+ -

- ~1~9BEE AL (FH54 £ 504)
. 2%=6>x=_(1) (M&FE5ir)=_(2) (z#HI » 3 | HELET - )

2. *HNlogRx—5)+1log(x—1) =1+ 1log?2 &3 #jz x =

3. * %3t log(x+2) <log(8—>5x) e Hicf# x el &

4 FHElogu(—x" +3x+10) F & & > R Hex RS

5. ¥ 1<loga<1l5> figfoflca} B o
6. %31 <107 <13% > fipkefitea =] B -

7. & (2,log2)~3,1log3)~ (10,logx)= £ s » Ffx =

8. LBV R AN FEZEYARER - PRI GlAo S SRR R A REFRE R
i AR aERFEE A Fﬁﬁﬂﬁﬁiﬁﬁ%,ﬁg"ﬁ PRAREE PR > B G auEE i Y

TR e T RRFEZEL S B L FRER) EERE 0 DR ITL Y
LRTT o A - R FR L0 ek BT AR RIRL TR IR ERA
3 (e 37 ~B3 Fieiz) e




Bk F - BUpResL E 15 5 100% 0 Bt A A 1F A0 F B A- %o Bl- &R flfe
757\2 g—;,_‘ ;%Efiﬁ—g“‘l-&?ﬁ‘f'J}J’ i..;’; ) ﬂl]._ ij\‘f 'ft"{ZZSOO’“ s ’;IP—Q'?ZAEAT]J)‘LB—
%0 Rl A 24414 R o A1 LEH Bl - E (5 AR A doT o 3R
dod R HEE 0 - E S Rl A (eI BT ) o

ALY |- &29Hk |- &5 A0

- £ | 20000 ~

B3 2 22500 ~

- % 4 24414 ~

-1 12 26130 ~

- iF 52 26926 ~

- P 365 27146 ~

- pF 8760 27181 ~

- 525600 ? =

= 10'*17&7—3 3 ﬁﬁ:}&{{ (-’i{{iﬁ-ﬂ”ﬁ 5RENE 3 0P - BEFELFED

10.

I1.

AL - BEHIIL B BERIOL - BEEUIIEL

£ 64 4)

B SRR EET R F ¥ B8 Geogebra ¢ "y=logx, =B % * HH#cS ¥ o
T B EREE HAEEFR Ty =logx SEBA DR a7 v AL L y b A g AR kAR

FR AR [ BEAH OB R U T ERT G 6 R eE S 2

-0,2 A 02 04 06 U8
“ol4 02 02 04 e i
=174 -u.o / [
— —6:8 / 0.2
/
— =t / = }
1 / a.ls/a.‘g/' 12 14
(A) = (B) (C) -0:2 |
G 08 /
e ///
U. 4 ._._-_.--—- v.0
— | ) '//
16 18 2 2P 2,4\% -1
(D) 0:2 | (E) 26 28 % 3k 3l 3k
T E IR G R R Y
(A) log,5+1logs2 =1 (B) log,(—3)? = % ©) M < log 20
(D) 22!og23 =8 (E) zlog3 > 310g2



12.

T A e B BP0 F R Ly = x 7

(A) Sfcy=logx & y=Ilog(—x) (B) Sn#icy =10 y=logx
(C) #cy=10""&y=—logx (D) Sy =10"+22 y=logx+2

(E) sn#icy =102 2 y=logx — 2

13. "Bl 5 ¥y =logx~y=alogx~y=blogx 2 y=clogx @A,

14.

15.

Fy=alogx¥ y=blogx R x#h » y=clogx & y=logx B~ HFH> x $h >

P Rk 38 E H G pr e ?

YA
(A)a>10
= log x

(B) a-b=1 —y =alogx

g __y=blogx
©) c== y =clogx
(D) b>c
(B) Emm-kTsey=alogx hRlA)F0E 23— 2o
BB R FT B LEARTRAGE 14 & Ao BRTIE 26 0 ¥ 15% Sjg

Bledei2 3 W FRARF RGP EF 34— - J&{FT a5 572

(A) 4.5% (B) 4.75% (©) 5% (D) 5.25% (E) 5.5%

FooomAagseh T 1 oA SElES o e DFH R R SR A 31 03% 0 iR behiF 0 P
oo EE R RS PR  R ki th o AR 2R TER R LR kR @
A28 0.03% | © B3t ou b Azl o Py T oRUE SEIE § ¢ Fren ?

(A) 3% @ 4 i ¥ cPipyh ik 2 5 2 4§ R

24-0

(B) #Z e #uip? chiFi kR = | € % R ;m_o

(C) Za®hdibhiFs 1) Haijpd aiFpik R 5 0.225% -
(D) 3% 7 6 tis b elip)is 30 A4 H iR ¢ iR A 5 0.2625% ©
(B) iz R ZOWI P A bebips 8 iR 2 -



16.

17.

EHRAE T G - B0 1881 & 0 - A SAEBRE THEL | PEE o FREF ] LB
FReNE o o W 2 ABEEE o RenplE o A L 2BESORE R X WL 3 EBEESOE & ke o

FI7 1938 F » FRFARE NP - R AIRFESLEE R - TIE  ARMTFHRETA
DR A S FRAg kR Rk TR 0 T A RF A (TR LR o

BRERG > § 8T 5 a6l E2HE, = hw0+aj’1@¢m¢ Er v g E

Gt 2 EREY DRk o 1RFLEE R 0 T IR E I T en ?
(A F dicF 5 1l 612 4 § & 248:30.1% -

S ORI R SUES TR

i

(B) # =%
(C) % tdied 5 9 i dic® ¢4 F i3 5 8 PR B 5 -

(D) # #cF 5 1enficdplicE & kT 5 2 nlicdp e B 3 ¢ (L AQiE 2 e 45% -
(E) bB+P,+P;+P,+Ps+Pg+P,+Pg+Py=1 »

ETN

E TR

d 3R b A A R R RGP KFRTG BE T AR AR 0 F LLEIFI‘*]‘%J"J(?P‘E”% 44
G REFTE Y TP PIE AT £ 0o TR EE BFEEY REEE 2 VR EFIER
SEIE R e B B c(t) = 9.86222 X 0.815918 ¢ + 2.79045 >

R A T R 2

IJTT!)’KJILQIE{L e ?

(t) (mg)
LR FiM LR Fi4i K nlod ¥4 i "\h
¥ 10.83592 $6H 5.69356 11y 3.86069 b “\\‘
3
$ 28 9.35707 $78 5.18057 128 3.65433 ! \\\
$38 8.15180 ¥ 8§ 4.72520 #1384 3.50931 E ‘\"*-wmh u
%48 7.16231 %9® 4.35953 # 148 3.32409
$5:9 6.34766 %109 4.07285 155 3.26808 (EEE R

(A) - Bdod A1 Rk ERP P a5 L4 0k B (mg/L) 9 5 2.79(mg/L) »
(B) 1R¥58cdhifml @ B AR A > ST F BT 175 % 4 0k & (mg/L) 4%

(C) s gl « @ P R R NF AP ER(mg/L) § TFFFARL > F- FenT R AR] -
(D) 1RIpddpfp Rl - - PR > TR RIFINF AP kR (mg/L) ¥ i § > 2.5(mg/L) ©
(B) 2&2Q6)isenimd kR~ 95 284 (mg/L) -



FEABERY II3EERY - B9 3 - X BY¥ - x££
FLi T B ¥
mA 104 4~ > 2% 100 &+ 2 100 5 3+ -
- 19 MEHE A (FHR LA P £ 504)
1(D). 1(2). 2.
10g, 6 ( Zig ) 2.58 5
3. 4, D.
—2<x<1 2<x<5x#3 22
6. 1. 8.
15 %§§ (gg 184
9.
27183

= ~10~17T885 S £ 8K

(F4g35% 5 BEF > 1

G- BEFHI 6L  H=-BEFU LI 8L £ 644)

BEEE e 5L - BEHFH I 4 >

10. 11. 12.
B~C B~C B~ C-E
13. 14, 15.
D-~E B ~C B ~C
16. 17.
A~D-E B~C-E




